
৩৯ তম             -      ম        

১। 

125√5
2x = 1     x    ম   কত? 

(ক) 

-3 

(খ) 

7 

(গ) 

3 

(ঘ) 

9 

     ক। -3 

২। 

 ক                        ? 

(ক) 

       

(খ) 

   হ 

(গ) 

    গর 

(ঘ) 

     গ 

     ঘ।      গ 

৩। 

A person who believes that laws and governments are not necessary is known as - 

(ক) 

a militant 
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(খ) 

a terrorist 

(গ) 

an anarchist 

(ঘ) 

an extremist 

     গ। an anarchist 

৪। 

          ক      ত  ক ত ক    ক     - 

(ক) 

  ক   র খ    

(খ) 

         রক 

(গ) 

    হ-    ট 

(ঘ) 

 হ      র   

     ক।   ক   র খ    

৫। 

 ম  ত     ক                ক ? 

(ক) 

          (Nitrogen) 

(খ) 

হ         (Hydrogen) 

(গ) 

       (Oxygen) 

(ঘ) 

      (Ozone) 

     ক।           (Nitrogen) 
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৬। 

ম          ক   কখ     ত    ? 

(ক) 

১২       , ১৯৭১ 

(খ) 

১৪       , ১৯৭১ 

(গ) 

১৭       , ১৯৭১ 

(ঘ) 

১০      , ১৯৭১ 

     ঘ। ১০      , ১৯৭১ 

৭। 

ম   ম                ত        - 

(ক) 

     র ঘ রর       

(খ) 

গ         র       

(গ) 

            র     

(ঘ) 

ক  ক    ক      

     খ। গ         র       

৮। 

২০১৮           ত   -                                               ক       

   ত    ? 

(ক) 

      

(খ) 
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(গ) 

   র   র 

(ঘ) 

      

     খ।         

৯। 

'        ' ও '         ' ক       ? 

(ক) 

র    র     হ  র   

(খ) 

 গ  ক         

(গ) 

র  র       

(ঘ) 

               র 

     ক। র    র     হ  র   

১০। 

ম           ক        '         ম  ' ক       ? 

(ক) 

       হ     

(খ) 

  ক        

(গ) 

        হ    

(ঘ) 

            হক 

     গ।         হ    

১১। 
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'        ক     '                ক  ক? 

(ক) 

       হ     

(খ) 

   গ র 

(গ) 

           

(ঘ) 

  হর র  হ   

     ঘ।   হর র  হ   

১২। 

       ম   ম (Zero-sum Game)       তক    ক   ক   ত              ? 

(ক) 

         

(খ) 

   র      

(গ) 

        

(ঘ) 

গ      

     খ।    র      

১৩। 

He went to ___ hospital because he had ___ heart attack. Use article in the gap- 

(ক) 

no article, an 

(খ) 

a, an 

(গ) 

no article, a 

https://3hourbattle.com/sq/3927
https://3hourbattle.com/sq/3928
https://3hourbattle.com/sq/3929


(ঘ) 

the, no article 

     গ। no article, a 

১৪। 

The word 'florid' indicates-- 

(ক) 

flower 

(খ) 

flour 

(গ) 

foliage 

(ঘ) 

floor 

     ক। flower 

১৫। 

   - কম         ক              ক          ত       ? 

(ক) 

    র        ড 

(খ) 

        

(গ) 

    র      

(ঘ) 

             ড 

     খ।         

১৬। 

nC12 = nC6     n    ম   কত? 

(ক) 

12 
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(খ) 

14 

(গ) 

16 

(ঘ) 

18 

     ঘ। 18 

১৭। 

Complete the following sentence :'Had I known you were waiting outside, I - 

(ক) 

had invited you to come in 

(খ) 

would invite you to come in 

(গ) 

would be inviting you to come in 

(ঘ) 

would have invited you to come in 

     ঘ। would have invited you to come in 

১৮। 

       ক           ত          -ক        ? 

(ক) 

       র 

(খ) 

    

(গ) 

      র 

(ঘ) 

     

     ক।        র 
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১৯। 

'খ       '    ম       ক? 

(ক) 

    কক         

(খ) 

            র    

(গ) 

      ক       ধ 

(ঘ) 

র     র           

     খ।             র    

২০। 

'      '                ক              ক       ও       ? 

(ক) 

  র +     

(খ) 

  র +     

(গ) 

    +      

(ঘ) 

  র +      

     গ।     +      

২১। 

Cricket is a kind of play. It is also a kind of -- 

(ক) 

food 

(খ) 

bird 

(গ) 
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flower 

(ঘ) 

insect 

     ঘ। insect 

২২। 

           ২০১৮-১৯                ত             ক      কম            কত 

        ? 

(ক) 

১,৭২,০০০  ক  ট ট ক  

(খ) 

১,৭৩,০০০  ক  ট ট ক  

(গ) 

১,৭১,০০০  ক  ট ট ক  

(ঘ) 

১,৭০,০০০  ক  ট ট ক  

     খ। ১,৭৩,০০০  ক  ট ট ক  

২৩। 

  খ  ত 'ও        ক       ' (Washington Consensus)  ক                 ত? 

(ক) 

       র              ক              

(খ) 

       ক              

(গ) 

         

(ঘ) 

       ক             

     ক।        র              ক              

২৪। 

       ক          ক ক              ? 
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(ক) 

কর      

(খ) 

ক র   

(গ) 

কর   

(ঘ) 

কর  

     ঘ। কর  

২৫। 

ম         ম      কম      ত     ক             ? 

(ক) 

১১       র 

(খ) 

৮       র 

(গ) 

১০       র 

(ঘ) 

৯       র 

     গ। ১০       র 

২৬। 

            ক '     তম ক  '      খ    ত ক     ক? 

(ক) 

        

(খ) 

           

(গ) 

র         ক র 
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(ঘ) 

            হক 

     খ।            

২৭। 

           ক        ত        ? 

(ক) 

২২    , ১৭৫৭ 

(খ) 

২৪    , ১৭৫৭ 

(গ) 

২৫    , ১৭৫৭ 

(ঘ) 

২৩    , ১৭৫৭ 

     ঘ। ২৩    , ১৭৫৭ 

২৮। 

'ত     ক'       ম   ক     ক     ? 

(ক) 

     

(খ) 

   -        

(গ) 

     ক 

(ঘ) 

   ক র 

     গ।      ক 

২৯। 

                           ম        ক    ? 

(ক) 
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(খ) 

  র  

(গ) 

ক   ড  

(ঘ) 

    

     ক।     

৩০। 

     ক                 ম ক    ক    ? 

(ক) 

১৬০০-১৮০০     

(খ) 

             ক   

(গ) 

            র   ক   

(ঘ) 

       র       ক   

     ক। ১৬০০-১৮০০     

৩১। 

     ম  ক     ও  ক                ত    ? 

(ক) 

       

(খ) 

       

(গ) 

     

(ঘ) 
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  গ    

     খ।        

৩২। 

   ত      'Champion of the Earth'  খত       ক? 

(ক) 

 হ   র      

(খ) 

   র      

(গ) 

  খ হ      

(ঘ) 

         ক   

     গ।   খ হ      

৩৩। 

                 ' ত ক    খ  ত  (   ,   ,        , ম     )       কত  ত   ? 

(ক) 

১৪.১০ % 

(খ) 

১৬% 

(গ) 

১২% 

(ঘ) 

১৮% 

     ক। ১৪.১০ % 

৩৪। 

   , ৯ × ৩ = ৩৫৪৫     ৪ × ৩ = ১৫২০    ত  , ৬ × ৮ = ? 

(ক) 

৩০৪০ 
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(খ) 

৬০৫০ 

(গ) 

৫০৪০ 

(ঘ) 

৪০৩০ 

     ঘ। ৪০৩০ 

৩৫। 

A soporific speech is likely to -- 

(ক) 

be incomprehensible 

(খ) 

appeal primarily to emotions 

(গ) 

put one to sleep 

(ঘ) 

stimulate action 

     গ। put one to sleep 

৩৬। 

     ক  তক   ১০%      ১০০০   ক   ২            ও        ম           ক  কত? 

(ক) 

১১ ট ক  

(খ) 

১০ ট ক  

(গ) 

১২ ট ক  

(ঘ) 

১১.৫ ট ক  

     খ। ১০ ট ক  
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৩৭। 

Select the word with right spelling - 

(ক) 

Schizophrenia 

(খ) 

Seizophrania 

(গ) 

Scizophrenia 

(ঘ) 

Schizophrania 

     ক। Schizophrenia 

৩৮। 

৯২          ম              ম   ম        ম               তক          ? 

(ক) 

        

(খ) 

  ক    - হ র     

(গ) 

   র            

(ঘ) 

   ট    রক     

     খ।   ক    - হ র     

৩৯। 

Love for the whole world is called ? 

(ক) 

misogyny 

(খ) 

misanthropy 

(গ) 
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philanthropy 

(ঘ) 

benevolence 

     গ। philanthropy 

৪০। 

            ক        ? 

(ক) 

১৯১১      

(খ) 

১৯১২      

(গ) 

১৯০৯      

(ঘ) 

১৯০৮      

     ক। ১৯১১      

৪১। 

        খ         ত ৭ : ৫     ত      .  . . ১৪০       খ           .  . . কত? 

(ক) 

১২ 

(খ) 

৬ 

(গ) 

৯ 

(ঘ) 

৪ 

     ঘ। ৪ 

৪২। 

2x2 + 5x + 3 < 0     ম      ক    ? 

(ক) 
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-3/2 < x < -1 

(খ) 

-3/2 < x < 1 

(গ) 

-3/2 < x < -1 

(ঘ) 

-3/4 < x < -1 

     ঘ। -3/4 < x < -1 

৪৩। 

 ম      ম      ত              ক     ? 

(ক) 

 হ     হ     র    র 

(খ) 

       ক       র    র 

(গ) 

ট             ট     র    র 

(ঘ) 

      র    র 

     গ। ট             ট     র    র 

৪৪। 

 ক      ক A          ক              ক ১০    ,  ত      ম   ক ২০    , ত     

  ম   ক ২০                  ম   ক      B               । A ও B    ম  ক   

     কত     ? 

(ক) 

৩০   ট 

(খ) 

৪০   ট 

(গ) 

১০   ট 

(ঘ) 
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২০   ট 

     গ। ১০   ট 

৪৫। 

                       ত             ক? 

(ক) 

           

(খ) 

র      

(গ) 

 ধ      

(ঘ) 

  ক র 

     খ। র      

৪৬। 

'   '           ত   ক           ক    ? 

(ক) 

 ক র 

(খ) 

গর  

(গ) 

ক  ট  

(ঘ) 

  ট  

     খ। গর  

৪৭। 

       ক      ম   ক   খ   ? 

(ক) 

৪৭ 
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(খ) 

৮৭ 

(গ) 

৯১ 

(ঘ) 

১৪৩ 

     ক। ৪৭ 

৪৮। 

           (Byzantine)                       ক        ? 

(ক) 

      

(খ) 

    র  

(গ) 

ক           

(ঘ) 

       

     গ। ক           

৪৯। 

When we want to mean a government by the richest class we use the term 

(ক) 

Oligarchy 

(খ) 

Cryptocracy 

(গ) 

Aristocracy 

(ঘ) 

Plutocracy 

     ঘ। Plutocracy 
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৫০। 

   ক    (Folketing)  ক               ? 

(ক) 

         

(খ) 

 ড   র ক 

(গ) 

 র    

(ঘ) 

        ড 

     খ।  ড   র ক 

৫১। 

Cozy Bear  ক    ক? 

(ক) 

হ  ক র    

(খ) 

     

(গ) 

        ক  র 

(ঘ) 

    

     ক। হ  ক র    

৫২। 

Hospitals ___ the sick 

(ক) 

operate 

(খ) 

admit 

(গ) 
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nurse 

(ঘ) 

treat 

     ঘ। treat 

৫৩। 

                         ক    ? 

(ক) 

           

(খ) 

         

(গ) 

         

(ঘ) 

          

     গ।          

৫৪। 

             ত             মত  ক   কত            ? 

(ক) 

 ধ      

(খ) 

     

(গ) 

    

(ঘ) 

     

     ক।  ধ      

৫৫। 

                  ম       ক               তক   ? 

(ক) 
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       র 

(খ) 

          

(গ) 

  র  

(ঘ) 

        ড 

     ক।        র 

৫৬। 

ম       ত         ক             ম      ? 

(ক) 

           

(খ) 

 ধ       

(গ) 

        ক  

(ঘ) 

 ধ      রক  

     ঘ।  ধ      রক  

৫৭। 

    তক ক ত     ক     ম   ক         ক ত          ক     তক   ক      ক   

    ? 

(ক) 

  হর    

(খ) 

ক     

(গ) 

       র     র   

(ঘ) 
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   র 

     খ। ক     

৫৮। 

c = {x:x     ক       খ   ও   x2 < 18}; c                     ? 

(ক) 

1, 2, 3, 4 

(খ) 

1, 3, 5, 7 

(গ) 

-1, -2, -3, -4 

(ঘ) 

2, 4, 6, 8 

     গ। -1, -2, -3, -4 

৫৯। 

 ক             ক        ক '      ত  ক  ' (Poet of Politics)                ? 

(ক) 

      ক  

(খ) 

ট    

(গ) 

    ক     ট 

(ঘ) 

গ  ড     

     ক।       ক  

৬০। 

    2 × 3 = 812, 4 × 5 = 1620    ত   6 × 7 = ? 

(ক) 

2442 

(খ) 
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42 

(গ) 

2428 

(ঘ) 

1214 

     গ। 2428 

৬১। 

The warning of the authority falls on deaf ears. Here warning does the function of - 

(ক) 

adverb 

(খ) 

adjective 

(গ) 

verb 

(ঘ) 

noun 

     ঘ। noun 

৬২। 

 ক     ত            ১৮   . ম.        ১০   . ম. ।   ত                  ক   

২৫   . ম. ক        ।   ত          কত       ত         ত ত   ক   ? 

(ক) 

৭.৩      

(খ) 

৭.২      

(গ) 

৭.১      

(ঘ) 

৭      

     খ। ৭.২      

৬৩। 
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The word 'culinary' is related to -- 

(ক) 

printing 

(খ) 

dress 

(গ) 

cooking 

(ঘ) 

musical instrument 

     গ। cooking 

৬৪। 

১৯৪৫        ত  ক      ম      ত       ম   কত               ? 

(ক) 

৫১ 

(খ) 

৫০ 

(গ) 

৪৮ 

(ঘ) 

৪৯ 

     ক। ৫১ 

৬৫। 

   ম     ক     খ ও  ত           ত     ক    ? 

(ক) 

      

(খ) 

  র গ 

(গ) 
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(ঘ) 

   গ খর  

     খ।   র গ 

৬৬। 

Identify the correct passive form of the sentence below: 

'Do you know them? 

(ক) 

Are they known by you? 

(খ) 

Are they known to you? 

(গ) 

Ate they known with you? 

(ঘ) 

Would they be known by you? 

     খ। Are they known to you? 

৬৭। 

| 1-2x | < 1     ম     - 

(ক) 

-2 < x < 1 

(খ) 

-1 < x < 1 

(গ) 

-1 < x < 0 

(ঘ) 

0 < x < 1 

     ঘ। 0 < x < 1 

৬৮। 

          ম    ক ক     ? 

(ক) 
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       ক 

(খ) 

   -   

(গ) 

     ক      

(ঘ) 

ক         

     ক।        ক 

৬৯। 

'Panacea' means- 

(ক) 

pancreatic 

(খ) 

Cure all 

(গ) 

widespread disease 

(ঘ) 

gland 

     খ। Cure all 

৭০। 

What is the plural number of 'ovum' - 

(ক) 

ovams 

(খ) 

ovumes 

(গ) 

ova 

(ঘ) 

ovums 
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     গ। ova 

৭১। 

 ক               ? 

(ক) 

False, True 

(খ) 

Sharp, Blunt 

(গ) 

Abundance, Scarcity 

(ঘ) 

Love, affection 

     ঘ। Love, affection 

৭২। 

                     ম   ক    ত        ? 

(ক) 

৬  ট 

(খ) 

৭  ট 

(গ) 

৮  ট 

(ঘ) 

৫  ট 

     খ। ৭  ট 

৭৩। 

০.৪ × ০.০২ × ০.০৮ =? 

(ক) 

০.০০০৬৪ 

(খ) 

৬.৪০০০০ 
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(গ) 

০.৬৪০০০ 

(ঘ) 

০.০৬৪০০ 

     ক। ০.০০০৬৪ 

৭৪। 

       ক               ম ? 

(ক) 

৬/১১ 

(খ) 

৮/১৪ 

(গ) 

৩/৫ 

(ঘ) 

৫/৮ 

     ঘ। ৫/৮ 

৭৫। 

'ত  ম  ত                  ক !'-   ক    ত  ক    ক                 ত       ? 

(ক) 

   ক র      

(খ) 

            

(গ) 

           

(ঘ) 

    গ        

     গ।            

৭৬। 
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    ত  খ  ৮         তখ       ক     ও  ম      ক      ম   ত   ক   কত          ? 

(ক) 

৯০° 

(খ) 

১২০° 

(গ) 

১১০° 

(ঘ) 

১০০° 

     খ। ১২০° 

৭৭। 

'A Christams Carol' is a ___ by Charles Dickens. 

(ক) 

ballad 

(খ) 

sketch story 

(গ) 

historical novel 

(ঘ) 

Short Novel 

     ঘ। Short Novel 

৭৮। 

 ক            ক  ক? 

(ক) 

গ হ     গ হ     

(খ) 

                

(গ) 
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(ঘ) 

      ঘ     

     গ।                 

৭৯। 

'         ' ক              ম   ক             ? 

(ক) 

       

(খ) 

    ক  হ   

(গ) 

  টক 

(ঘ) 

ক     

     ক।        

৮০। 

২০১৮                           ত           ক    ? 

(ক) 

    ক      ক  র     ক র 

(খ) 

         গ        

(গ) 

                র ধ  হ    গ   

(ঘ) 

            ক   খ     

     ক।     ক      ক  র     ক র 

৮১। 

 ক        ত                  ? 

(ক) 
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(খ) 

ক   ক    

(গ) 

       

(ঘ) 

       

     খ। ক   ক    

৮২। 

'There was a small reception following the wedding'. The word 'following' in the sentence 
above is a/an - 

(ক) 

adjective 

(খ) 

adverb 

(গ) 

Preposition 

(ঘ) 

noun 

     গ। Preposition 

৮৩। 

'   '     ম   ক     ক    ? 

(ক) 

    

(খ) 

     

(গ) 

    

(ঘ) 
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     ক।     

৮৪। 

               ম            তম     কত? 

(ক) 

৩৫   র 

(খ) 

২০   র 

(গ) 

৩০   র 

(ঘ) 

২৫   র 

     ঘ। ২৫   র 

৮৫। 

 ক                 ম                     ? 

(ক) 

১৯৩৪ 

(খ) 

১৯৩১ 

(গ) 

১৯৩৩ 

(ঘ) 

১৯৩২ 

     গ। ১৯৩৩ 

৮৬। 

Which of the following words has been formed with a prefix? 

(ক) 

authentic 

(খ) 
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amoral 

(গ) 

amnesia 

(ঘ) 

aspersions 

     খ। amoral 

৮৭। 

                          ক               ক    ? 

(ক) 

Lieutenant 

(খ) 

Leaftenant 

(গ) 

Leiftenant 

(ঘ) 

Lieaflenant 

     ক। Lieutenant 

৮৮। 

                 ক                ক ক                      ক              খ 

     ? 

(ক) 

       ২৩ 

(খ) 

       ২২ 

(গ) 

       ২১ 

(ঘ) 

       ২৪ 

     খ।        ২২ 
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৮৯। 

           ২০১৮-১৯                              ত            কত? 

(ক) 

৮.০০       

(খ) 

৭.২৮       

(গ) 

৭.৮০       

(ঘ) 

৭.৬৫       

     গ। ৭.৮০       

৯০। 

'To be, or not to be - that is the question,'-- is a famous soliloquy from -- 

(ক) 

Hamlet 

(খ) 

Macbeth 

(গ) 

King Lear 

(ঘ) 

Othello 

     ক। Hamlet 

৯১। 

'Geriatrics' is the branch of medicine concerned with the diseases and care of -- 

(ক) 

old women 

(খ) 

newly-weds 

(গ) 
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newborn babies 

(ঘ) 

old people 

     ঘ। old people 

৯২। 

1/√2, 1, √2 -          ক      8√2     ? 

(ক) 

১২       

(খ) 

১১       

(গ) 

১০       

(ঘ) 

৯       

     ঘ। ৯       

৯৩। 

        ম        ক        ক     ? 

(ক) 

Flower 

(খ) 

Tree 

(গ) 

Twig 

(ঘ) 

Branch 

     গ। Twig 

৯৪। 

 ত     ত   ক      ? 

(ক) 
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র      র    

(খ) 

     র    ক 

(গ) 

     র    র          র  ক   

(ঘ) 

   ঘ          

     গ।      র    র          র  ক   

৯৫। 

 ক                      ত      ? 

(ক) 

    

(খ) 

    

(গ) 

     

(ঘ) 

     

     খ।     

৯৬। 

 ক       ১৮০   ক        ক    ১০%   ত      ।          ম   - 

(ক) 

২১০ ট ক  

(খ) 

২০০ ট ক  

(গ) 

১৬২ ট ক  

(ঘ) 
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১৯৮ ট ক  

     খ। ২০০ ট ক  

৯৭। 

    ম ত                              ত              ম          ম     খ 

        ক    ও          ক     ? 

(ক) 

   ড         ড - ২০১০ 

(খ) 

       ক ড  রট  ড   

(গ) 

      ঘ        র  র 

(ঘ) 

Planet 50-50 

     ক।    ড         ড - ২০১০ 

৯৮। 

'Hand out'                         ? 

(ক) 

হ     র 

(খ) 

   র    র 

(গ) 

       র 

(ঘ) 

       র 

     গ।        র 

৯৯। 

     ত    ক                - 

(ক) 

            হক 
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(খ) 

          হ    

(গ) 

     র র হ    

(ঘ) 

      রক র 

     ঘ।       রক র 

১০০। 

     ও    ত       ম       ক   ক                   খ      ? 

(ক) 

              

(খ) 

              

(গ) 

              

(ঘ) 

                    

     ঘ।                     
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